514-1J

—‘t A\Y \Y
HmSRK—ILRU
, -Qt N Y
BNTH (&m&h—IL1aU) [ DniE | 50000
0
W|PETALD
W
B L(‘:
Wi 4-Sx¢
M : | ¢ dp ~ - — gdc|¢ d
(MAX) e o
\ A T
EEN)
N1
BT mm
RUHE|U—R|A—IL] 6% | &8 & | BErcEns | Bk F v ~DE ac# [Fuh =
WORE |9 & iR EEM [ Ca [ Ca | K | /B | om | 28 BT S| EEE—XV - |8 2| B2
d Ph dp dc 5l X & kN KN |N/um| W F L, B © SX{ W, T M \'i Nz A |TEF kg-m?2/mm kg | kg/m
BNT 1404-3.6 14 4 14.4 115 |1X3.65| 55 11.5 150 34 13 35 26 22 M4 X7 17 6 30 6 2 M6 0.1 2.96x10°% 0.15 1
BNT 1405-2.6 14 5 14.5 11.2 |1X2.65 5 11.4 110 34 13 35 26 22 M4 X7 17 6 & 6 2 M6 0.1 2.96x10°% 0.15 | 0.99
BNT 1605-2.6 16 5 16.75| 13,5 [1x265| 5.4 13.3 130 42 16 36 32 22 M5X8 21 21.5| 325 6 2 M6 0.1 5.05x10°® 0.3 | 1.34
BNT 1808-3.6 18 8 19.3 144 |1X365( 13.1 31 210 48 17 56 85 85 M6X10 | 24 10 44 8 3 M6 0.1 8.09x10°® 0.47 | 1.71 §|.
BNT 2005-2.6 20 5 205 | 17.2 |1X2.65 6 16.5 150 48 17 35 35 22 | M6X10 | 24 9 39 5 3 M6 0.1 1.23%X107 0.28 | 2.15 |
BNT 2010-2.6 20 10 |21.25| 164 [1x265| 106 | 25.1 160 48 18 58 85 35 | M6X10 | 24 9 46 10 2 M6 0.1 1.23%X107 0.5 | 2.16 F
BNT 2505-2.6 25 5 255 | 222 |1x265| 6.7 20.8 180 60 20 35 40 22 | M8X12 | 30 9.5 45 7 5 M6 0.1 3.01x107 0.41 | 3.45 )
BNT 2510-5.3 25 10 26.8 | 20.2 [2x265| 31.2 | 83.7 | 400 60 23 94 40 60 | M8x12 | 30 10 55) 10 — M6 0.1 3.01 X107 1.18 | 3.26 i
BNT 2806-2.6 28 6 28,5 | 25.2 |1X2.65 7 23.4 200 60 22 42 40 18 M8X12 30 10 50 8 — M6 0.1 474%X107 0.81 | 4.44
BNT 2806-5.3 28 6 285 | 252 [2x265| 128 | 46.8 | 390 60 22 67 40 40 | M8x12 | 30 10 50 8 — M6 0.1 474%X107 0.78 | 4.44 -
BNT 3210-2.6 32 10 |33.75| 272 |1xX265| 198 | 53.8 | 250 70 26 64 50 45 | M8x12 | 35 12 62 10 — M6 | 0.14 8.08x107 1.3 | 5.49
BNT 3210-5.3 32 10 |33.75| 272 |[2xX265| 36 107.5| 490 70 26 94 50 60 | M8Xx12 | 35 12 62 10 — M6 | 0.14 8.08 X107 2 5.49
BNT 3610-2.6 36 10 37 30.5 |1 X265 20.8 | 59.3 | 270 86 29 64 60 45 |IM10x16| 43 17 67 1 — M6 | 0.17 1.29%10° 1.8 | 6.91
BNT 3610-5.3 36 10 37 30.5 |2x265| 37.8 | 118.7 | 530 86 29 96 60 60 |[M10x16| 43 17 67 11 — M6 | 0.17 1.29%10° 2.4 | 6.91
BNT 4512-5.3 45 12 465 | 39.2 |2x2.65| 495 169 650 100 36 115 75 75 [M12x20| 50 | 20.5| 80 13 — M6 0.2 3.16X10° 4.1 111.08
= A)EBREEQZERETDBESF. Ty NERTENMBIILF T 55MITM15-368%Z S8R EE L,
FURB DB
BNT2010-2.6 ZZ +1000L C7 T H1K
T -1 T T
WURE  BERBS AUHSE amseEe
BSGD (MMET) e o) BHRHERES
(¢1)M15-35888 (x2)M15-1285
[N15-302 =1 L https://tech.thk.com &E4 7Y 3>M15-357 T [15-303




